AMENDMENT TO CONTRACT BY AND BETWEEN FRISCO INDEPENDENT SCHOOL DISTRICT AND BAYES ACHIEVEMENT CENTER, INC.

This Amendment supplements the contract by and between Frisco Independent School District ("School District") and Bayes Achievement Center, Inc. ("Contractor"), dated May 22, 2023, for specialized educational residential services for ("Student").

I. TERM

This Amendment does not change any terms of this contract between School District and Contractor ("the contract") other than: (1) extending the contract term to end on 7/31/2024; and (2) clarifying the costs of specialized educational residential services for Student that fall within the 22-23 Residential Placement funding window (ended 7/31/23) and those that fall within the 23-24 Residential Placement funding window (8/1/23-7/31/24). The contract term will also be extended to 7/31/24. The contract term will cover 397 calendar days. All other terms from the contract not amended/clarified above remain in full effect.

22-23 Residential Placement funding window (ended 7/31/23)

There are 31 total days that fall within the 22-23 Residential Placement funding window (ended 7/31/23). ESY was provided for 10 of those 31 days in July 2023. The remaining 21 days are considered non-school days.

23-24 Residential Placement funding window (8/1/23-7/31/24)

There are 366 calendar days that fall within the 24-24 Residential Placement funding window. Of those, 176 are "school days" designated on Contractor's 2023-24 student academic calendar, and there are 23 "school days" designated on Contractor's extended school year (ESY) calendar that fall within the 23-24 Residential Placement funding window (8/1/23-7/31/24). This means that out of the 366 days of Student's residential services, 199 fall on "school days" and the remaining 167 fall on non-school days.

II. CLARIFICATION TO THE CONTRACT

Clarification will be made regarding the following "Fixed Costs" table from the portion of the contract named "Exhibit A - Bayes Achievement Center, Inc - Cost Analysis":

Fixed Costs (22-23 Residential Placement Window 7/1/23-7/31/23):

Category	Rate	Service Total
Behavior Programming 24 hours per day - 31 days	\$413.19	\$12,808.89
Educational Services - ABA x 1.7	\$521.75	\$886.98
Residential Services - 31 days	\$277.37	\$8,598.47
A. To	otal Fixed Costs:	\$22,294.34

Fixed Daily: \$719.17

Fixed Costs (23-24 Residential Placement Window 8/1/23-7/31/24):

Category	Rate	Service Total
Behavior Programming 24 hours per day - 366 days	\$413.19	\$151,227.54
Educational Services - ABA x 1.7	\$6,160.00	\$10,472.00
Residential Services - 366 days	\$277.37	\$101,517.42
A. To	otal Fixed Costs:	\$263,216.42

Fixed Daily: \$719.17

School District and Contractor agree that the following clarification/cost breakdown shall supplement the "Fixed Costs" table that is copied above:

Clarification of Fixed Costs for days that fall in (22-23 Residential Placement Window 7/1/23-7/31/23):

Category	Number of Days	Fixed Daily Rate	Service Total
10 ESY School Days	10	\$719.17	\$7,191.70
21 Non School Days (7/1/23-7/31/23)	21	\$719.17	\$15,102.57
A. Total Fixed Costs for (22-23 Residential Placement Window 7/1/23-7/31/23):			\$22,294.27

Clarification of Fixed Costs for Regular School Days (23-24 Residential Placement Window 8/1/23-7/31/24):

Category	Number of Days	Fixed Daily Rate
176 Regular School Days	176	\$719.17
A. Total Fixed Costs for 170 Regular School Days:		\$126,574.00

Clarification of Fixed Costs for ESY Days (23-24 Residential Placement Window 8/1/23-7/31/24):

Category	Number of Days	Fixed Daily Rate
23 ESY Days	23	\$719.17
A. Total Fixed Costs for 12 ESY Days:		\$16,541.00

Clarification of Fixed Costs for Remaining Non-School Days (23-24 Residential Placement Window 8/1/23-7/31/24):

Category	Number of Days	Fixed Daily Rate
167 Non-School Days (8/1/23 - 7/31/24)	167	\$719.17
A. Total Fixed Costs for 184 Non-School Days:		\$120,101.00

Clarification of Fixed Costs for Days that fell within the 2022-2023 High Cost Fund Grant Year:

Category	Number of Days	Fixed Daily Rate
31 Days (7/1/23-7/31/23)	31	\$719.17
A. Total Fixed Costs for 31 Days:		\$22,294.00

Confirmation of Clarified Fixed Costs Equalling Total Fixed Costs

Category	Service Total
Clarified Fixed Costs - 176 regular school days (23-24)	\$126,574.00
Clarified Fixed Costs - 23 ESY days (Summer 2024)	\$16,541.00
Clarified Fixed Costs - 167 non-school days (8/1/23 - 7/31/24)	\$120,101.00
Clarified Fixed Costs - 31 (7/1/23-7/31/23)	\$22,294.00
A. Total Fixed Costs for 397 Days:	\$285,510.00

Except as clarified by this Addendum, the contract shall continue in full force and effect in accordance with its terms. In the event of a conflict between this Addendum and the contract, the provisions of this Addendum shall govern.

II. <u>SIGNATURES</u>

Agreed to and executed on behalf of Bayes Achievement Center, Inc. ("Contractor") and Frisco Independent School District ("School District") by:

Daniel Bayes, M.Ed., BCBA	Kimberly Smith, CPA
Executive Director	Chief Finance and Strategy Officer
Bayes Achievement Center, Inc.	Frisco Independent School District
Date:	Date: